Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

STEVES

GLAZED FIBERGLASS DOOR

SINGLE
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product is required fo be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite Panel Details 10 Vertical Cross Sections
4 Panel Options 11 Buck Anchoring
5 Elevations 12 Frame Anchoring & Hardware Details
é Horizontal Cross Sections 13 |Bill of Materials & Components
7 Horizontal & Vertical Cross Sections (2X Buck)

£ 7 | 7
/ Ii ,‘
X X \ J /
FAN LITE 1/2 LITE 3/4 OVAL LITE 3/4 LITE

RELIANT DECORATIVE COLLECTION

68.5" MAX.
OVERALL FRAME
WIDTH

80.75" MAX. O.A.
FRAME HEIGHT (OUTSWING)

81.5" MAX. O.A
FRAME HEIGHT (INSWING)

CONTINUOUS HEAD & SILL

June 6, 2022

X 37.5"x 81.5" +45.0

-45.0

X0, OX, OXO 68.5" x 81.5"

+45.0

-45.0

FL 33595

S
I/,
813.659.9197

/

P
2
7
BUILDING CONSULTANTS, INC.

P.O0. Box 230, Valrico,

Documents Prepared By:<,(J
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NOJ DATE

REVISIONS

DATE: 4/26/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41477.1

SHEET _1_ oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

G162 12
EXTERIOR 24" :1 e 0.34"
o .. 'SR T ..
! e e R COMPOSITE COMPOSITE
in AR P 1 L e L de e | .— CAP CAP
M~ Y e . s -_’;’ - - E . .bg» N - \
‘ /I TR s > R \ :
INTERIOR
COMPOSITE H"\ﬁ'\ELS)mE | LOCK BLOCK LAT(CLCLS)"LE TOP RAIL—[F=
CAP /~1 "\ HORIZONTAL CROSS SECTION 19.75" LONG (LVL) (L) ‘
\2/ :
" . !
1.42 I«].ses HOT MELT BUTYL - 3 L -
— GLASS BIIE FIBERGLASS SKIN #
T T ! T EXTERIOR 1" OVERALL GLASS THK. Iy R
R = B — T r _—1/8' TEMPERED GLASS et h
i .l i i doat | _— DECORATIVE INSERT B T
\s ' B & oL
s S ARSPACE
TKI PRODUCTS LITE FRAME  ODL LITE FRAME (EVOLVE] S f 1/8" TEMPERED GLASS

21.125" MAX.D.L.O.

WIDTH

WIDTH

35.75" MAX. DOOR

]D

46.75" MAX.
D.L.O. HEIGHT

79" MAX. DOOR HEIGHT

P

INTERIOR

#8 X 1-3/8" PH SMS

5

40 FIBERGLASS DOOR PANEL

TKI PRODUCTS LITE FRAME

FIBERGLASS DOOR SKIN: MIN. 0.07" THK.
CORE MATERIAL: POLYURETHANE FOAM

. 35.75"MAX. DOOR
WIDTH
20.75" MAX. D.L.O.
WIDTH
AL
1
—— g ]
> T o
3 o B
& NN
o o5 X 2
{ g
S RE
— -
| | T
/ i
©
~
SEE HARDWARE TABLE ~
(LATCH & DEADBOLT) i
#8 X 1-3/8" PH SMS |
a e AL SEE HARDWARE TABLE
! ' {MULTIPOINT LOCK)

1/2 LITE: 14 TOTAL
FAN LITE: 8 TOTAL

40 ) FIBERGLASS DOOR PANEL
ODL LITE FRAME {EVOLVE)

SWIGGLE SPACER

G1 GLAZING DETAIL

TKI PRODUCTS LITE FRAME

HOTMELTBUML ——  gp1¢" EXTERIOR # INTERIOR
GLASS BITE \
EXTERIOR l— 1" O.A. GLASS THK.
L _— 1/8" TEMPERED GLASS (RAIN)
sk £~ AIR SPACE
. s :' | —
STy f ™~_1/8" TEMPERED GLASS (RAIN)
T

INTERIOR

STEEL INTERCEPT SPACER

#8 X 1-1/2" PPH SMS
{HI-LO THREAD)
3/4 LITE: 20 TOTAL

G2

GLAZING DETAIL

ODL LITE FRAME (EVOLVE)

FOAM CORE—[- ~ »

SIGNATURE SERIES

KWIKSET
DEADBOLY: SIGNATURE SERIES (980 = z H
. - SOTOMRAL -
LATCH: F51
SCHLAGE DEADBOLT: Bé4ON (LVL) *
ROCKWELL | LATCH: PREMIUM HANDLESET BOTIOM RAIL — 1.
DEADBOLT:  PREMIUM DEADBOLT (COMP.)
PREMIUM MULTIPOINT HANDLESET
ROCKWELL w/ DEADLOCKING TONGUE /" 2"\ VERTICAL CROSS SECTION
MULTIPOINT LOCK

\2/

June 6, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

STEVES & SONS
FIBERGLASS DOOR
DOOR
PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4./26/22

scae:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41477.1

SHEET _2 oF 13

© 2022 R.W. BUILDING CONSULTANTS [NC.




Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

13.875" MAX. PANEL
WIDTH

6.19"MAX.D.LO.

INTERIOR

COMPOSITE STLE
STILE REINFORCEMENT
(LVL)

/"1 "\ HORIZONTAL CROSS SECTION

3/

13.875" MAX. PANEL

WIDTH

WIDTH

581"MAX.D.LO.
WIDTH

HEIGHT

79" MAX. PANEL HEIGHT
63.125" MAX. D.L.O.

D

62.88" MAX. D.L.O.
HEIGHT

#8 X 1-3/8" PH SMS #8 X 1-1/2" PH SMS

1/2 LITE: 12 TOTAL
3/4 LITE: 14 TOTAL
FULL LITE: 16 TOTAL

1/2 LITE: 14 TOTAL
3/4 LITE: 18 TOTAL
FULL LITE: 20 TOTAL

50 FIBERGLASS SIDELITE PANEL
TKi PRODUCTS LITE FRAME

FIBERGLASS SKIN: 0.07" MIN. THK.

50 FIBERGLASS SIDELITE PANEL
ODL LITE FRAME (EVOLVE])

FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

COMPOSITE

TOP RAIL—]

(LVL)

CAP \

| o4

1.2" =

FIBERGLASS SKIN

N

RAIL //;

REINFORCEMENT

— 0.8"

{LvL)

EXTERIOR

INTERIOR

RAL—T] : |
REINFORCEMENT - A - o
(LVL) T, pa
ppe
7
1
e Il - YT
i o e
Y - g

FOAM CORE—

BOTTIOM RAIL —||=

REINFORCEMENT
(LVL)

BOTTOM RAIL — L=

(COMP.)

/ 2>\ VERTICAL CROSS SECTION

NEY

[y
W i1,
S W
\\\&-". /0’,/ i
\Q‘a e ¢, »
- Y "WZ 0
SS'w Q AL
:I".g g 6. AZ0 M
=5if 3 (L2 L,
— . R . —
- . -z -“‘mm
z®.3 ¢ &OI0 5o
fw'. P Z 0.0
AL RSEFEE
7 *e g @\\ Hoog
7, LT - 4
7, sesppe N - > zZ
7, N n .0
,/I/ \\\\ Z S o
ll’ o OY’)“-H
& O -8
e} o
v U o 52 o
= ¥
EEo B0
a £0O " ,ch.l
~l2a% 5925
aI ' mann
[ 'Y I
H\@z T
Q15 o,
g]8 cu
S8 2n
0
ZS a
38 EE
o2 (g &S
W =
We |2 cn'-lz-’
ﬁgﬁ @ <
-
£ x
O
2 o
S &
& Fou
>_
n
175)
=z
O
]
o
o]
z
1]
wl 15
=RE
]
(] 3
4|2
ol lo
z %}
4]
DATE: 4/26/22 |z
[»]
scae:  N.T.S. 2
DWG. BY: RW o
CHK. BY:  LFS 3
DRAWING NO.: z
FlL—41477.1 a
N
sHEET 3 oF 13 o




“ON| SBINYLAINSNOD 9NIAGTHOE MY 2202 @

atidllie
T 14

£186 'ON Anisibey 3494

SNOISIAZY
L6L6'6S9°CLE 'ON 8uoud F -
SBSES T4 ‘OOLIDA ‘OST XoE “O'd § SNOULO JNvd 4000 28 WM Gl=le] <2
N ...mkz<53wzoo oNIgTINg @ ATBAISSY 90 Lavd W.m IS
W 7 N S«
3 N, N T ¥00a SSV193gl4 NI IR b
O/Mounrm...aﬁw....\.@% 2, e ST N SNOS % SIAILS slulZlEE g
S0 : AEIEIN
~ . » VY 1Ag peupdeld sjusuwnao( 1oNQoNd SI3121518 &
] TT0T ‘9 sung
“\ -.O. .. I“
% SN0 A, &
o’ ey zmo O N
\\\\&Q\&oooo. t-w //,/
717, YWHOS 2.\ w
SN =
- 18]
el T
o |
= —
- L
—
= 2
el
< =
< <
) <
—
w (1
= oz
o~
AN
—
(18]
o
o
<
~~
()
S
L b
= Q
[ |
- w
< ~—
f X > P~
- 0 O
— NS @)
« 1T
m
o
X o T
-, = Q
(3] -
e S
[y — N
<
|
L
oz
d m_ "
_ =
ol
| ) 2
\ <

BMpL 2L r-14\0202) LLpLy-T14\sBuiMelq - DASTIYES INVITIY LLPLp-14\s|enoiddy 1onpoid epuiojd - Y\JUSUBWIR - SUOS PUE S3AIS\SIUSID\Z



TON] SINVITINSNOD aNIaTInNg "My 2202 @

£186 'ON Ausibed Idgd SNOISIAIY
LB616°6S9°CL8 FON 8uoyd X F -
S6SEE 14 ‘O9UIPA ‘0£Z Xog “O'd \Sv SNOLLYATTS . 0N NIE 2 N B_
*ONI ‘SINVLINSNOD ONIaNg g. TIaNISeY 80 1avd W ~EIG Qs
Nz g =
S ¥00a SSV19y3gld S lelelZ T 5_
60y "ON "3 o |
AN - SNOS % S3A3LS ME BB
(¢
‘1ondoad ZIS|1215182 | %

1Y 3
\J0 A0/

ELEVATION
10)(0)

| co avnvav <2
o
| - - N
|~ HES| N o = /2 =
| M—

D
1Y 3
10 AN 10
ELEVATION
XO /OX

<t O

P oed

(3
\J0/

p
1
\J10/

ELEVATION
OX/ X0
(CENTER HINGED)

2

|
YD
NN,

MM M0 D O~

FOVWI G3JOAIW

ELEVATION
X

BMp 1247 LY-14\0202) L4pip-T\sBuImeld - D\SAYIS INVIITY LLPLy-Td\s|erciddy 10npoid BPLIOLY - Y\JUSUBWIS - SUOS PUE SBARIS\SIUSID\:Z



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

NOTES:
1. Sidelite assembly screws located @ 3" & 19" from
each end of mullion (4 fotal).
2. Moulding secured w/ 16 GA. X 1" brad
nails located 1" from ends & 6" 0.c. max.

3)
X I““\“‘“\

\ l-'
'»\.\\\\\.\w_\.\.\,\s‘.\\.\.\,\\.\\!!.--.l .4

S
R\

A\ Y

.

@ 0 SEE NOTE 2
(TYP.) @
SERC

m HORIZONTAL CROSS SECTION
W Qutswing shown {Inswing similar)

INTERIOR

EXTERIOR

~ (T
7

N\
g0 e

~

\\

12

m HORIZONTAL CROSS SECTION
w Outswing shown {Inswing similar)

M,

.S

withiyy,,
CH

\ICENSg

AN
V:.

%,
“,
QL
- o
%2 3
A
L= . Lomn
Oz san
COS £ L840
c'@\ ﬁ-‘:lﬂ .
> L Db©o
K g w2
Zouw
Y 8RLE
o™
- B 0 xze
SE zg/ K
g EO fa) o
a £0O ] .::h.!
® O« = p on
Nl On M em
N ¢ @mani
< .)u:
Sle =2 §
E 0
Q15 © .,
318 su
=18 2
na (%)
=0 =
o0 e
0no 'SE
oy 2z
30 |5 SN
03 |2 2,
L
58 b on
i 19 To
L 00 I
5] % |z
2 o
S E
& Py
>..
mn
%)
el
O
4]
o
5}
Zz
0
wl 15
= <
< |5
o 3
u
T Z
ol |a
Z| {o
ju]
DATE: 4,/26/22 |z
o]
SCALE:  N.T.S. d
o]
DWG. BY: RW )
cHk. B:  LFS 2
DRAWING NO.: z
FL—41477.1 N
N
sHEer 6 oF 13 |g




Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

1-1/4" MIN. Y 27
L Q 4
0 EMB. (TYP.) S 4//5’,,
' .- (3) | — " SSy 2 ALY
> @ <" S5q Ix Bigas
. a o . : H - E :—- ~
IR 0.15" C-SINK S U & 8§ ;20
S I L - --? 4 .‘Q:I—- g0 wm
Uy ol 2% SHEE
P4 e T ° Z .. S 5595
é | ‘ IS ‘ A' s // ML TTYY D \\\ a > f’s 2z
e o IRV P G R N e 1. S
- l l -8 : ’ RS : o g v Ol ‘5‘ ON -0
X - . . D . | . . + O Oy
i a Ry INTERIOR | N ) . v v . . " E FEE S v 2 235% &0
A LIS ITT AT T DI o oo e v v v e ‘ . [ Eo Z a °
,’4‘5 o " . ) : . v »'é~ . > V”,vb . g_.Co 9 . cuw
s a . > : N . "=y N ) Ay 502%
: Ly : Y z Qr 2 @mdon
'» f/!!!s’}’ll!l!ll/l’"!!i | I} AUTHURBTNTES . SEE NOTE 3 g 8 ™ .
1o == AN (®) >< —(1) zg S|t 52 =
P i I 0 =z ] FRTIN
N Abadaay At "’"‘"M S e : Z i%ﬁ
: ~ 5 —e== :) 5
| a a4 . :" % /\ !' NN N, o L0 <
1. /28 L < = | 23
4. A s Al NN—— Om
| | B ‘ e oK | Ex
R a a - ) . R %8 LN
N T = . @ T ha >
) EXTERIOR @@ 89 |3 2
1-1/4" MIN. SRR o x =2 |3 28
EMB. (TYP.) 9 @ 5 83 |2 £6
o ;@5 3 So
/"1 "\ HORIZONTAL CROSS SECTION /"2 HORIZONTAL CROSS SECTION EXTERIOR INTERIOR o = PR |5 Bo
7 JShownw/2XBuck . . 7/ Shownw/ 2X Buck \ S g o 9
Outswing shown {Inswing similar) Outswing shown {Inswing similar) 8 =l %
{4\ VERTICAL CROSS SECTION g |z
7 / Shown w/ 2X Buck
Outswing shown {Inswing similar) >
om
L 8
o g > A\
a IS > » v s
. - > v v v ’ - prad
| . ; X v v “D > v ,v{)’ 78 %
Bkd ' D - peid
SEENOTE | s e o
INTERIOR L B ) _..—@ s
INTERIOR o £
g .
5 ab ; ‘\@ : 5 2
0
“ O |
? S 4 8 |3
NS J 19
s | (@} ]
L. =l |o
EXTERIOR 7( R Y WE 4/26/22 | %
—_—— . ) fa]
NOTES: @ SEE NOTE 2 N - " ‘ SCALE: N.T.S. E
1. Sidelite assembly screws located 4" from each (TYP.) /\// EXTERIOR INTERIOR DWG. BY: RW B
end plus 4 more equally spaced along jamb (6 total). ' o | T-1I/4MN. \\ cHK. BY:  LFS 3
i " i EMB. {TYP. : ‘
2 Moulding secured w/ 16 GA. X 1" brad nai /73> HORIZONTAL CROSS SECTION e (5" VERTICAL CROSS SECTION L
hor @ head & nof required for single door (X) onl 7/ Shown w/ 2X Buck 7/ Shown w/ 2X Buck FL—41477.1 |8
3. Anchor @ head is not required for single door (X) only. Outswing shown (Inswing similar) Outswing shown (Inswing similar) o 7 o 13 1Y
L o13 Jo




ARRLLETLERLRANY

2
< .

St

vq. -
v

S

I
i 7 |

Na -

v

@

1-1/4" MIN.
EMB. (TYP.)

INTERIOR

/
%LEXTERDR
V) @

m HORIZONTAL CROSS SECTION

Shown w/ 1X Buck

Qutswing shown (Inswing similar)

1. Sidelite assembly screws located 4" from each

end plus 4 more equally spaced along jamb {6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails

located 1" from ends & &' 0.c. max.
3. Anchor @ head is not required for single door {X} only.

OO

BV G

<

N IR -

. eV

v

N

m HORIZONTAL CROSS SECTION

Shown w/ 1X Buck
Outswing shown (Inswing similar)

O

SEENOTE 1

SEENOTE 3

v

v

7

-4
UL

‘V
e
- eV
o
/\/’

\\

SEE NOTE 2
(TYP.)

1-1/4" MIN.
EMB. (TYP.)

/"3 HORIZONTAL CROSS SECTION

Shown w/ 1X Buck
Outswing shown {Inswing similar)

June 6, 2022

EMSB. (TYP.)

I Zao
——F— O
-—\\ < £
o) T2
0 —u
INTERIOR
A\Y
/“ 4"\ VERTICAL CROSS SECTION
Shown w/ 1X Buck
Outswing shown (Inswing similar)
F
B o s LR s
a L N
. . o
A -—(© 2
<
EXTERIOR INTERIOR

W

/"5 "\ VERTICAL CROSS SECTION

Shown w/ 1X Buck

Outswing shown {Inswing similar)

0
o0
0
)
o™
z
_.._J'\
L
2 saw
Z VG5O
e
I
D>z
255
\ g 22
& ON - @
% o x2 8
32 20
§ Ea 5o
a £0 O . cid
® 3y 502k
LT Daodk
B
c [*]
s c5 §
£3°
g su
a Ja @:g
<
25
G
nx b~
28| &
na -
39 |3 N2
(23 P T e)
nS 19 <=
Wy @ B9
ED: 7] %c’?’a
i~ L 0 I
“U‘)Q < Eu)
5 (T N owv
S o] £
(] [ 2
2 g ©
n n.
>_
o
%)
=z
Q
]
ol
o
L
<<
o
o
z
DATE: 4/26/22
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FlL—41477.1

SHEET _8 ofF 13

. Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

© 2022 R.W. BUILDING CONSULTANTS ING.




ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

1-1/4" MIN.
EMB. (TYP.)

/"1 "\ HORIZONTAL CROSS SECTION

w Shown Direct to Masonry
Qutswing shown {Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb (6 total).
2. Moulding secured w/ 14 GA. X 1" brad nails
located 1" from ends & 6" 0.c. max.
3. Anchor @ head is not required for single door {X) only.

INTERIOR

EXTERIOR

1-1/4" MIN.
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

9 / Shown Direct to Masonry
Outswing shown (Inswing similar)

INTERIOR

EXTERIOR

®—

.
.
SEENOTE 1
| i
< .
/ ( B :
@ SEE NOTE 2 e
(TYP.) Y
1-1/4" MIN,
EMB. (TYP.)

/"3 "\ HORIZONTAL CROSS SECTION

9

Shown Direct to Masonry
Qutswing shown (Inswing similar)

MU RANN TN
T vEA J

SEENOTE 3 Za
® 4
NP
=2
— LU
> . . L B - \
a ’ . Q'vx; ‘[hw A‘ Aib ’ '
/ IS & ) Z3 >
EXTERIOR INTERIOR
W
/ 4\ VERTICAL CROSS SECTION
w Shown Direct o Masonry
QOutswing shown {Inswing similar)
D
) © & v ® s

el

_/

EXTERIOR

INTERIOR

A\

/"5 "\ VERTICAL CROSS SECTION

9

Shown Direct to Masonry
Outswing shown {Inswing similar)

W
\\\\ ¥ I/,/
\\ wevOug_ & 7,
= . 1Y,
\\ «.-' . ® ” i)
LA ~ % 9
S8y 3 FASH
S5ig 3 8. 2z2
ol Sk BES=Eon
—0x ¢ oSy .o
- -o. .\§'— Oczm
R COHOSZ 000
AT .’Q¢ & Tt
/, (M e \\ Hoae o-
z, b AT TV N IS4
7 Q )
//,/ 3\\\\ %’ O-v- Z\
7 \ 5 3“’3
8 S o
v O V] §Z&3
4 EQ Z m g
96 B  cuw
o O« d s O
~lE vy 3%cm
~alr ¢ Bank
=2 1. ™
Slg 52 §
LIs v .
g18 cu
=18 2
U-’"\
75
O=
e}
On
nk =23
zQ S
59 2o
no El—
U) .o lJ.J]-‘
0y |8 s
Lo =
oE |0 =2
s o &
U)@ < ZV)
£l e OF
Q ol NS
a | E5
S |53
ZT g 5| O
SE ~
T o
- =2
—
v
z
©
v
ol
o
=
<€
o
o
Z
DATE: 4/26/22
ScALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41477.1
sHEET _9 oF 13

© 2022 R.W. BuiLDING CONSULTANTS IND.



“ON| SINVLIAINSNDOD gnNiaiimng "Mm's 2202 @

UERRENIN
* +f

c186 'ON Aisibey addd SNOLLOIS SNOISIAZY
L616'6S9°CLE "ON euoyd g a | -
S6SEE T4 ‘O9UIDA ‘0SZ X08 ‘O'd \Sv SS0HD TVOILY3A Avd oM o GIZIP] N 2
o,7_=_ .._m_.zﬁ._nmzoo oNIGTING @ KIaNaSsY H0 19vd DY R R
Wi 114, Q< g¥|o
/Zur» WNoyg/,, 60beh ON “Td 4004 SSY19434ld 3 lglgle 9
II//& ...ﬁ.ﬂm‘m.@&.f@ \\\ IPILYSS ‘4 UopUAT SNOS % SIAILS i “8 2|,
II&... .... % A8 pedodesd sjuewnoog :L0NAa0yd 3 m 3 M W %
; = 7207 ‘9 dunf
n\\ RS
%, Lo TN A, O
3 Oibie 3
\\\ Iom ///
TN
- >
2
| VT
>
274
(] ..“w.m
: i
= olg
<
<5
Q|
&l
z >0
mw
. S
= m~
) =
5 g ®
9l &5 ("dAL) "aw3
[»"4 O © .2_2 :V\ —.l—.
O A
R_ Ojo
= ] =
z <5
o|2
SE
5
’ mv
«~ 2
o)
o P-d
m_ )
£ G
3
{'dAL) a3 S
NI /1L o Slo
= &S
o U5
5 2|¢
<|<
Ulo
.m.m
w W =
z
«|2
= N o Z ¥
0 ] z
boa b
TR
A L]
v
= S o)  8lo (‘dAL) “aW3
5 & o Sle NIW /1L
< 5 IUE
= SIE
g =12
o W wilz
o P >ic
‘-t !
o]
o
5
2 2O
= =
= ("dAL) “aW3
© NIW.F/L-L
(o]
£
.S
()]
,mT.
Z e

BMpL Ly Lp-14\0202) LLvLp-1d\sBuIMelq - D\S3I¥IS INVITTY LLpip-14\s|eroiddy 1onpoid epLOjS - Y\JUSUBULR - SUOS pue SaA3IS\SIUaID\Z



CONG BANVLINSNGOD ONIaTNg

‘M 2202

(dAL) "X¥W
i— e EE—— ﬂn*tv .U.O :0—
Bl
=
W"4 im} t t 1 1
g T
< -
N i
C o * =
<E R
,..q..‘. o~ ....4...
_ H.-.-.. M ..v..m
1|3 + o
- H f ] ] L1
T T
=

(dAL) "X¥W

D091

(dAL)

HEAD & JAMBS
(TYP.)

C186 ‘ON Ansibey 384 SNOISIATY
L616°6G9°CLE ON suoyd i -
G6SES 14 ‘OSUIDA ‘OSZ Xo8 "O'd \Su ONIHOHONY %ond = vd_{ON NS B_
“ONI ‘SINVLINSNOD ONIaling @ IENISSY ¥0 Lavd S=1%FL S
i, N& g ¥ 1_
//,,V& WNOyg %\\ 8ObSH ‘ON ‘3'd ¥00a SSV19¥3l4 < 1glgle LT
:.1/0 ...&.QEO.NU... &\\\\ IDIWIYDS "4 uopukl SNOS % S3IAJIS dlYl sl oIE D |
S ~ X% ke poind ; AR
%0 :Ag peuodeld sjuswinso(q :LONQ0¥d a alo|a 72}
n.. .... ZT0T ‘9 suny
Fxi ¥
3+ . eovey oN =
- ", 2 IU
\\\\ «c-oaoogzmopc.ﬂ-) ,I,
% Uhiine 3
\\\\ Io ////
TN
(dAL) "XVW
o TEE ” "0'0.91
« :v
o t 1 1 1
v & -
2
: . X
e E o
E % o= @)
V) =
d..v 1.& P ... q... ..4.« . N c.a ..- ... ~ r.< “ 4...-
..41 - R a: ’ Y ..”.‘-..v. .¢..‘ » --x

X0, OX
2X BUCK ANCHORING

X

MASONRY (TYP.)

BMp L 227 Ly-14\0202) LLpLy-Td\sBumelq - D\SIIYAS INVITIY LLyLy-Td\s|eroiddy 1onpoid epUold - Y\IUSUBWIS] - SUOS PUB S3A3IS\SIUBIID\Z



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

FRAME CORNERS ATTACHED w/ (3) 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2
#7 X 1-5/8'DRYWALL SCREWS @ HEAD & SILL

% 3.5"X 4" 20 GA. STEEL PLATE ATTACHED TO

BACK OF LOCK JAMB w/ (4} 1" CROWN X
5/8" LONG 16 GA. STAPLES

MULLION
P. " (TYP. L&
m ) 6" 6" (TYP.) " (:_Y(PT\),P ) ~ E
| — bt | SEEHINGE 1 7 3.
? ¥ —F peran o : 05 2,
_ - ) Su T 8wy,
2X BUCK : 53 = T
_ (Dmeuck || o _ (L)2xeucx _ 32 F: . oF:
- o o gyl
1XBUCK 1X BUCK =6 . be o 06
DIRECT TO DIRECTTO a8 % n @ h Q
— MASONRY weff — — MASONRY ._" S = Nl ‘ $ l *\ i
JAMBS HEAD & JAMBS - K]
(TYP.) (TYP.) T.' 1
\
- A - 4 | ; |7
= S 2 2
T JgE o = 42
- —| QE — —| o2 - I
9 ¥ < f .
FRAME =% DOOR SILL = l SEE LATCH &
(TYP.) ™~ (TYp) ER DEADBOLT STRIKE SEE MULTIPOINT LOCK
- - — il &~ DETAIL STRIKE PLATE DETAIL
) S =5 (TYP.) =4 (TYP.)
X X0, OX (D)ourswinG HINGE JAMB/MULLION  STRIKE JAMB/MULLION  STRIKE JAMB/MULLION
- MULLION NSWING LATCH & DEADBOLT MULTIPOINT LOCK
INTEGRAL MULLION ATTACHED TO 4" (TYP.) . & \
HEAD & SILL w/ (3) #10 X 3" FH 4 (TYP) o SID%TL\I,E)SILL \ @
COMPOSITE DECK SCREWS (TYP.) "-1 ‘ . DIRECTTO é @
il TINT1 ” M DIRECTTO MASONRY 2X BUCK @
—_ MASONRY 1X BUCK /E
_\\ § \Y & )iXBUCK @ -~ I 1X BUCK N
! 2X BUCK @ DIRECT TO ]
_ 2x BUCK — T L )2x BUCK N MASONRY \
:‘ = .:..< o \
o IX BUCK e Ol \@ ROCKWELL MULTIPOINT LOCK HARDWARE ROCKWELL HARDWARE
- DIRECT TO ——
I MASONRY I \ SRECTTO [:’ @
HEAD & JAMBS @
(TYP.) HINGE DETAIL MASONRY ) _—TOP PLATE
- =T INSWING 1X BUCK e _ .
ourswinG (D) g = DRECTTO  2XBUCK (21) @<
- —| © MASONRY
INSWING ° <% Y | BACK PLATE
SIDELITE SILL S5 OR SILL = 1X BUCK
{TYP.) \
% - {TYP.) . — e ]| efe—] 2X BUCK 2X BUCK (25 % BUCK @
l LT = Hiesl g
e Hlo :>§1jj> IXBUCK 1X BUCK I
DIRECTTO \
0X0 \ R \
KWIKSET HARDWARE SCHLAGE HARDWARE
HINGE DETAIL
FRAME ANCHORING SUTSHING HARDWARE DETAILS

June 6, 2022

W,
K
. " [s))
'.\“.— i
4.° - .1
O, A=0 M
[ P
Q’:°~U) "o
o\\" OOQCO
TOSZ L0
y < ST
L OS> = :
N 4 D Oo
S 22wz
‘.\ O")m-w
& ON - 0
) O
0 0 ¢ gZ&)
e Em ..z_mm
g2 £o _O_, . cul
® 8y 502k
L T¢ DXL
8w,
c O
g€ £ §
S
g Sul
a Jo
nE 02
z8 =<
oK &l
n :Q:Q
n
.. OLIJ
=~8:§ X =
%) o <<
Lo |= =
BQ: L W
B (5 3%
0 |< &:{:
5 & L'"ea
= 's)
ol |&
o o
>
o
%)
=z
Q
n
ol
oc
g
z
o
L z
< |3
o 3
4 |z
@]
=l |8
DATE: 4/26/22 |3
scae:  N.T.S. g
|
DWG. BY: RW o
cHk. B::  LFS 3
DRAWING NO.: r
N
FL—41477.1 g
N
©

SHEET ]2 oF 13




ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.1.dwg

BILL OF MATERIALS
TEM # | DESCRIPTION MATERIAL

A 1X BUCK (G >=0.42) WOOD
B 2X BUCK (G >= 0.42) WwOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 WOOD JAMB wOQOD
3 WOOD MULLION WOOD
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2' PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4' PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

1.25"

4.56" —i

0.75"

i\%

| 2.15" —]

WOQOD JAMB
FINGER JOINT PINE

058" —= =

“———].5"-—->

~

|

3.4

"

..

URATN

e

2.5

( : ) WOOD MULLION
CLEAR POPLAR

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

4.6" IT

15 OUTSWING THRESHOLD

Columbia

CONCRETE ANCHOR NOTES:

edge distance o mortar joints.

—

-

A -
-

-

-

-

. Concrete anchor locations at the comers may be adjusted fo maintain the min.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

June 6, 2022

P.O. Box 230, Valrico, FLL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

ALL SEASONS, INC
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

BY

REVISIONS

NOJ DATE

TTW BUILDEX

DATE: 4,/26/22

wood screws to prevent the splitting of wood.

TAPCON® | 1/ 11/4 SCALE:  N.T.S.
DeWALT | ) /4n 1174 " . owe. B:  RW
ULTRACON® -1/ 1 cHk. B LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41477.1

SHEET 13 oF 13

© 2022 R.W. BUILDING CONSULTANTS ING.





